

COEFFICIENT INEQUALITY FOR A SUB-CLASS OF GENERALIZED SAKAGUCHI TYPE FUNCTIONS

GAGANDEEP SINGH

Department of Mathematics, M.S.K. Girls College, Bharowal(Tarn-Taran), Punjab, India

ABSTRACT. In this paper, we investigated the upper bounds of $|a_3 - \mu a_2^2|$, μ real, for a subclass of generalized Sakaguchi type functions of the form $f(z) = z + \sum_{n=2}^{\infty} a_n z^n$, in the unit disc $E = \{z : |z| < 1\}$. Results due to various authors follows as special cases. 2010 Mathematics Subject Classification. 30C50.

Key words and phrases. Analytic functions, univalent functions, Sakaguchi type functions, starlike functions with respect to symmetric points, bounded functions, subordination.

§1. INTRODUCTION AND PRELIMINARIES

Let A denote the class of functions of the form

$$(1) \quad f(z) = z + \sum_{n=2}^{\infty} a_n z^n$$

which are analytic in the unit disc $E = \{z : |z| < 1\}$. Let S be the class of functions of the form (1) which are analytic univalent in E .

Let U be the class of analytic bounded functions of the form

$$(2) \quad w(z) = \sum_{n=1}^{\infty} c_n z^n, \quad z \in E,$$

and satisfying the conditions $w(0) = 0$, $|w(z)| < 1$. It is known (see [15]) that

$$(3) \quad |c_1| \leq 1, \quad |c_2| \leq 1 - |c_1|^2.$$

We shall apply the subordination principle due to Rogosinski [17], which states that if $f(z) \prec F(z)$, then $f(z) = F(w(z))$, $w(z) \in U$ (where \prec stands for subordination).

Recently Frasin [4] introduced and studied, the subclasses of generalized Sakaguchi type functions as follows:

$S(\alpha, s, t)$ is the class of functions $f(z) \in A$ which satisfies the following conditions

$$Re \left[\frac{(s-t)zf'(z)}{f(sz) - f(tz)} \right] > \alpha, 0 \leq \alpha < 1, s, t \in C, s \neq t, z \in E.$$

$T(\alpha, s, t)$ is the class of functions $f(z) \in A$ which satisfies the following conditions

$$Re \left[\frac{(s-t)(zf'(z))'}{(f(sz) - f(tz))'} \right] > \alpha, 0 \leq \alpha < 1, s, t \in C, s \neq t, z \in E.$$

Obviously $f(z) \in T(\alpha, s, t)$ if and only if $zf'(z) \in S(\alpha, s, t)$.

These classes generalise the classes introduced by Sakaguchi [18] and Das and Singh [3]. Various Sakaguchi type functions were investigated and studied by various authors including ([6],[8],[9],[13],[16],[20]). In this paper, we define the following new generalized class $M_s(\delta, \lambda, A, B, s, t)$, which is the generalization of the above defined classes and the classes studied by various authors.

A function $f(z) \in A$ is said to be in the class $M_s(\delta, \lambda, A, B, s, t)$ if it satisfies the following conditions

$$(4) \quad (1 - \lambda) \left[\frac{(s-t)zf'(z)}{f(sz) - f(tz)} \right] + \lambda \left[\frac{(s-t)(zf'(z))'}{(f(sz) - f(tz))'} \right] \prec \left(\frac{1 + Az}{1 + Bz} \right)^\delta,$$

where $0 < \delta \leq 1, \lambda \geq 0, -1 \leq B < A \leq 1, s, t \in C, s \neq t, z \in E$.

The following observations are obvious:

- (i) $M_s(1, \lambda, A, B, s, t) \equiv M_s(\lambda, A, B, s, t)$.
- (ii) $M_s(1, \lambda, 1 - 2\alpha, -1, s, t) \equiv M_s(\lambda, \alpha, s, t)$.
- (iii) $M_s(1, \lambda, 1, -1, s, t) \equiv M_s(\lambda, s, t)$.
- (iv) $M_s(1, \lambda, A, B, 1, t) \equiv M_s(\lambda, A, B, t)$.
- (v) $M_s(1, \lambda, 1 - 2\alpha, -1, s, t) \equiv M_s(\lambda, \alpha, t)$, the class introduced by Keerthi et al.[9].
- (vi) $M_s(1, 0, A, B, 1, t) \equiv S^*(A, B, t)$, the class introduced by Goyal and Goswami [8].
- (vii) $M_s(1, 1, A, B, 1, t) \equiv T(A, B, t)$, the class introduced by Goyal and Goswami [8].
- (viii) $M_s(1, 0, 1 - 2\alpha, -1, 1, t) \equiv S^*(\alpha, t)$, the class introduced and studied by Owa et al.[16].
- (ix) $M_s(1, 1, 1 - 2\alpha, -1, 1, t) \equiv T(\alpha, t)$, the class introduced and studied by Owa et al. [16].
- (x) $M_s(1, 0, A, B, s, t) \equiv S^*(A, B, s, t)$, the class introduced by Shilpa and Latha [20].
- (xi) $M_s(1, 1, A, B, s, t) \equiv K(A, B, s, t)$, the class introduced by Shilpa and Latha [20].
- (xii) $M_s(1, 0, 1 - 2\alpha, -1, s, t) \equiv S(\alpha, s, t)$, the class introduced and studied by Frasin [4].
- (xiii) $M_s(1, 1, 1 - 2\alpha, -1, s, t) \equiv T(\alpha, s, t)$, the class introduced and studied by Frasin [4].

(xiv) $M_s(1, 0, A, B, 1, -1) \equiv S_s^*(A, B)$, the class introduced and studied by Goel and Mehrok [6].

(xv) $M_s(1, 0, A, B, 1, -1) \equiv K_s(A, B)$, the class studied by Mehrok and Singh [13].

(xvi) $M_s(1, 0, 1 - 2\alpha, -1, 1, -1) \equiv S_s^*(\alpha)$, the class introduced by Cho et al. [2].

(xvii) $M_s(1, 1, 1 - 2\alpha, -1, 1, -1) \equiv K_s(\alpha)$.

(xviii) $M_s(1, 0, 1, -1, 1, -1) \equiv S_s^*$, the class introduced by Sakaguchi [18].

(xix) $M_s(1, 1, 1, -1, 1, -1) \equiv K_s$, the class introduced by Das and Singh [3].

(xx) $M_s(1, \lambda, A, B, 1, 0) \equiv M(\lambda, A, B)$, the class studied by Kim and Jung [11].

(xxi) $M_s(1, \lambda, 1, -1, 1, 0) \equiv M(\lambda)$, the class introduced by Mocanu [14].

(xxii) $M_s(1, 0, 1, -1, 1, 0) \equiv S^*$, the class of starlike functions.

(xxiii) $M_s(1, 1, 1, -1, 1, 0) \equiv K$, the class of convex functions.

(xxiv) $M_s(1, 0, A, B, 1, 0) \equiv S^*(A, B)$, the class studied by Goel and Mehrok [5].

(xxv) $M_s(1, 1, A, B, 1, 0) \equiv K(A, B)$, the class introduced by Goel and Mehrok [5].

§2. MAIN RESULT

Theorem 2.1. Let $f(z) \in M_s(\delta, \lambda, A, B, s, t)$. Then

$$(5) \quad |a_3 - \mu a_2^2| \leq \begin{cases} \frac{\delta^2(A-B)^2(\beta-\mu)}{(1+\lambda)^2(2-s-t)^2} & \text{if } \mu \leq \beta - \gamma, \\ \frac{\delta(A-B)}{(1+2\lambda)|3-s^2-st-t^2|} & \text{if } \beta - \gamma \leq \mu \leq \beta + \gamma, \\ \frac{\delta^2(A-B)^2(\mu-\beta)}{(1+\lambda)^2(2-s-t)^2} & \text{if } \mu \geq \beta + \gamma, \end{cases}$$

where

$$\beta = \frac{(1+\lambda)^2(2-s-t)^2[(\delta-1)(A-B)-2B] + 2\delta(A-B)(1+3\lambda)(s+t)(2-s-t)}{2\delta(A-B)(1+2\lambda)(3-s^2-st-t^2)}$$

and

$$\gamma = \frac{(1+\lambda)^2(2-s-t)^2}{\delta(A-B)(1+2\lambda)|3-s^2-st-t^2|}.$$

Proof. As $f(z) \in M_s(\delta, \lambda, A, B, s, t)$, so by principle of subordination, (4) yields

$$(6) \quad (1-\lambda) \left[\frac{(s-t)zf'(z)}{f(sz)-f(tz)} \right] + \lambda \left[\frac{(s-t)(zf'(z))'}{(f(sz)-f(tz))'} \right] = \left(\frac{1+Aw(z)}{1+Bw(z)} \right)^\delta, w(z) \in U.$$

On expanding and equating the coefficients of z and z^2 in (6), we get

$$(7) \quad a_2 = \frac{\delta(A-B)c_1}{(1+\lambda)(2-s-t)},$$

(8)

$$[(1+2\lambda)(3-s^2-st-t^2)]a_3 - (1+3\lambda)(s+t)(2-s-t)a_2^2 = \delta(A-B) \left[(c_2 - Bc_1^2) + \frac{(A-B)(\delta-1)c_1^2}{2} \right].$$

From (7) and (8), it is easily established that

$$(9) \quad |a_3 - \mu a_2^2| \leq \frac{\delta(A-B)}{(1+2\lambda)|3-s^2-st-t^2|} |c_2| + \frac{\delta^2(A-B)^2}{(1+\lambda)^2(2-s-t)^2} |\beta - \mu| |c_1|^2.$$

Using (3), (9) yields

$$(10) \quad |a_3 - \mu a_2^2| \leq \frac{\delta(A-B)}{(1+2\lambda)|3-s^2-st-t^2|} + \frac{\delta^2(A-B)^2}{(1+\lambda)^2(2-s-t)^2} [|\beta - \mu| - \gamma] |c_1|^2.$$

Case I. For $\mu \leq \beta$, from (10), we have

$$(11) \quad |a_3 - \mu a_2^2| \leq \frac{\delta(A-B)}{(1+2\lambda)|3-s^2-st-t^2|} + \frac{\delta^2(A-B)^2}{(1+\lambda)^2(2-s-t)^2} [(\beta - \gamma) - \mu] |c_1|^2.$$

If $\mu \leq (\beta - \gamma)$, using (3), (11) gives

$$|a_3 - \mu a_2^2| \leq \frac{\delta(A-B)}{(1+2\lambda)|3-s^2-st-t^2|} + \frac{\delta^2(A-B)^2}{(1+\lambda)^2(2-s-t)^2} [\beta - \mu - \gamma].$$

$$|a_3 - \mu a_2^2| \leq \frac{\delta^2(A-B)^2}{(1+\lambda)^2(2-s-t)^2} [\beta - \mu].$$

If $\beta - \gamma \leq \mu \leq \beta$, (11) yields

$$|a_3 - \mu a_2^2| \leq \frac{\delta(A-B)}{(1+2\lambda)|3-s^2-st-t^2|}.$$

Case II. For $\mu \geq \beta$, from (10), we have

$$(12) \quad |a_3 - \mu a_2^2| \leq \frac{\delta(A-B)}{(1+2\lambda)|3-s^2-st-t^2|} + \frac{\delta^2(A-B)^2}{(1+\lambda)^2(2-s-t)^2} [\mu - \beta - \gamma] |c_1|^2.$$

If $\mu \leq (\beta + \gamma)$, using (3), (12) gives second inequality of (5).

If $\mu \geq (\beta + \gamma)$, (12) gives third inequality of (5).

This completes the proof of the theorem.

For $\delta = 1, \lambda = 0$, Theorem 2.1 gives the following result due to Mathur and Mathur [12].

Corollary 2.1. Let $f(z) \in S(A, B, s, t)$. Then

$$|a_3 - \mu a_2^2| \leq \beta(A-B) \begin{cases} C^* & \text{if } \mu \leq \sigma_1^*, \\ 1 & \text{if } \sigma_1^* \leq \mu \leq \sigma_2^*, \\ -C^* & \text{if } \mu \geq \sigma_2^*, \end{cases}$$

where $\beta = \frac{1}{|3-s^2-st-t^2|}$, $C^* = -B + (A-B) \left[\left(\frac{s+t}{2-s-t} \right) - \mu \frac{(3-s^2-st-t^2)}{(2-s-t)^2} \right]$,

$$\sigma_1^* = \frac{(2-s-t)^2}{(3-s^2-st-t^2)} \left[\left(\frac{s+t}{2-s-t} \right) - \left(\frac{B+1}{A-B} \right) \right] \text{ and } \sigma_2^* = \frac{(2-s-t)^2}{(3-s^2-st-t^2)} \left[\left(\frac{s+t}{2-s-t} \right) - \left(\frac{B-1}{A-B} \right) \right].$$

For $\delta = 1, \lambda = 1$, Theorem 2.1 gives the following result due to Mathur and Mathur [12].

Corollary 2.2. Let $f(z) \in T(A, B, s, t)$. Then

$$|a_3 - \mu a_2^2| \leq \frac{\beta}{3}(A-B) \begin{cases} C^{**} & \text{if } \mu \leq \sigma_1^{**}, \\ 1 & \text{if } \sigma_1^{**} \leq \mu \leq \sigma_2^{**}, \\ -C^{**} & \text{if } \mu \geq \sigma_2^{**}, \end{cases}$$

where $\beta = \frac{1}{|3-s^2-st-t^2|}$, $C^{**} = -B + (A-B) \left[\left(\frac{s+t}{2-s-t} \right) - \frac{3\mu(3-s^2-st-t^2)}{4(2-s-t)^2} \right]$,

$$\sigma_1^{**} = \frac{4(2-s-t)^2}{3(3-s^2-st-t^2)} \left[\left(\frac{s+t}{2-s-t} \right) - \left(\frac{B+1}{A-B} \right) \right] \text{ and } \sigma_2^{**} = \frac{4(2-s-t)^2}{3(3-s^2-st-t^2)} \left[\left(\frac{s+t}{2-s-t} \right) - \left(\frac{B-1}{A-B} \right) \right].$$

Putting $\delta = 1, \lambda = 0, s = 1$ in Theorem 2.1, we obtain the following result due to Goyal and Goswami [8].

Corollary 2.3. Let $f(z) \in S^*(A, B, t)$. Then

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{B-A}{(2+t)(1-t)} \left[B - (A-B) \left(\frac{1+t}{1-t} \right) + \mu(A-B) \left(\frac{2+t}{1-t} \right) \right] & \text{if } \mu \leq \sigma_1^*, \\ \frac{A-B}{(2+t)(1-t)} & \text{if } \sigma_1^* \leq \mu \leq \sigma_2^*, \\ \frac{A-B}{(2+t)(1-t)} \left[B - (A-B) \left(\frac{1+t}{1-t} \right) + \mu(A-B) \left(\frac{2+t}{1-t} \right) \right] & \text{if } \mu \geq \sigma_2^*, \end{cases}$$

where $\sigma_1^* = \frac{(1-t)}{(2+t)} \left[-\frac{1+B}{(A-B)} - \left(\frac{1+t}{1-t} \right) \right]$ and $\sigma_2^* = \frac{(1-t)}{(2+t)} \left[\frac{1-B}{(A-B)} - \left(\frac{1+t}{1-t} \right) \right]$.

Putting $\delta = 1, A = 1 - 2\alpha, B = -1, \lambda = 0, s = 1$ in Theorem 2.1, we obtain the following result due to Goyal and Goswami [8].

Corollary 2.4. Let $f(z) \in S^*(\alpha, t)$. Then

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{2(1-\alpha)}{(2+t)(1-t)} \left[1 + 2(1-\alpha) \left(\frac{1+t}{1-t} \right) - 2\mu(1-\alpha) \left(\frac{2+t}{1-t} \right) \right] & \text{if } \mu \leq \sigma_1^{**}, \\ \frac{2(1-\alpha)}{(2+t)(1-t)} & \text{if } \sigma_1^{**} \leq \mu \leq \sigma_2^{**}, \\ \frac{2(1-\alpha)}{(2+t)(1-t)} \left[(1-2\alpha) - \alpha \left(\frac{1+t}{1-t} \right) - \mu\alpha \left(\frac{2+t}{1-t} \right) \right] & \text{if } \mu \geq \sigma_2^{**}, \end{cases}$$

where $\sigma_1^{**} = -\left(\frac{1+t}{2+t} \right)$ and $\sigma_2^{**} = \frac{(1-t)}{(2+t)} \left[\frac{1}{(1-\alpha)} - \left(\frac{1+t}{1-t} \right) \right]$.

For $\delta = 1, \lambda = 0, s = 1, t = -1$, Theorem 2.1 gives the following result due to Shanmugam et al. [19].

Corollary 2.5. Let $f(z) \in S_s^*(A, B)$. Then

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{B-A}{2} [B + \frac{\mu}{2}(A-B)] & \text{if } \mu \leq -2 \left[\frac{1+B}{A-B} \right], \\ \frac{A-B}{2} & \text{if } -2 \left[\frac{1+B}{A-B} \right] \leq \mu \leq 2 \left[\frac{1-B}{A-B} \right], \\ \frac{A-B}{2} [B + \frac{\mu}{2}(A-B)] & \text{if } \mu \geq 2 \left[\frac{1-B}{A-B} \right]. \end{cases}$$

For $\delta = 1, \lambda = 0, A = 1 - 2\alpha, B = -1, s = 1, t = -1$, Theorem 2.1 gives the following result due to Shanmugam et al. [19].

Corollary 2.6. Let $f(z) \in S_s^*(\alpha)$. Then

$$|a_3 - \mu a_2^2| \leq \begin{cases} (1-\alpha)(1-\mu(1-\alpha)) & \text{if } \mu \leq 0, \\ (1-\alpha) & \text{if } 0 \leq \mu \leq \frac{2}{1-\alpha}, \\ -(1-\alpha)(1-\mu(1-\alpha)) & \text{if } \mu \geq \frac{2}{1-\alpha}. \end{cases}$$

For $\delta = 1, \lambda = 1, s = 1, t = -1$, Theorem 2.1 gives the following result due to Shanmugam et al. [19].

Corollary 2.7. Let $f(z) \in K_s(A, B)$. Then

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{B-A}{6} [B + \frac{3\mu}{8}(A-B)] & \text{if } \mu \leq -\frac{8}{3} \left[\frac{1+B}{A-B} \right], \\ \frac{A-B}{6} & \text{if } -\frac{8}{3} \left[\frac{1+B}{A-B} \right] \leq \mu \leq \frac{8}{3} \left[\frac{1-B}{A-B} \right], \\ \frac{A-B}{6} [B + \frac{3\mu}{8}(A-B)] & \text{if } \mu \geq \frac{8}{3} \left[\frac{1-B}{A-B} \right]. \end{cases}$$

For $\delta = 1, \lambda = 1, A = 1 - 2\alpha, B = -1, s = 1, t = -1$, Theorem 2.1 gives the following result due to Shanmugam et al. [19].

Corollary 2.8. Let $f(z) \in K_s(\alpha)$. Then

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{(1-\alpha)}{3} (1 - \frac{3\mu}{4}(1-\alpha)) & \text{if } \mu \leq 0, \\ \frac{(1-\alpha)}{3} & \text{if } 0 \leq \mu \leq \frac{8}{3(1-\alpha)}, \\ -\frac{(1-\alpha)}{3} (1 - \frac{3\mu}{4}(1-\alpha)) & \text{if } \mu \geq \frac{8}{3(1-\alpha)}. \end{cases}$$

For $\delta = 1, s = 1, t = 0$, Theorem 2.1 gives the following result due to Goel and Mehrok [7].

Corollary 2.9. Let $f(z) \in M(\lambda, A, B)$. Then

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{(A-B)^2(\beta - \mu)}{(1+\lambda)^2} & \text{if } \mu \leq \beta - \gamma, \\ \frac{(A-B)}{2(1+2\lambda)} & \text{if } \beta - \gamma \leq \mu \leq \beta + \gamma, \\ \frac{(A-B)^2(\mu - \beta)}{(1+\lambda)^2(2-s-t)^2} & \text{if } \mu \geq \beta + \gamma, \end{cases}$$

where

$$\beta = \frac{(A-B)(1+3\lambda) - B(1+\lambda)^2}{2(1+2\lambda)(A-B)}$$

and

$$\gamma = \frac{(1+\lambda)^2}{2(1+2\lambda)(A-B)}.$$

For $\delta = 1, A = 1 - 2\beta, B = -1, s = 1, t = 0$, Theorem 2.1 gives the following result due to Cho and Owa [1].

Corollary 2.10. Let $f(z) \in M_\lambda(\beta)$. Then

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{(\lambda^2+8\lambda+3-4(1+2\lambda)\mu)\beta^2}{(1+2\lambda)(1+\lambda)^2} & \text{if } \mu \leq \frac{(\lambda^2+8\lambda+3)\beta-(1+\lambda)^2}{4(1+2\lambda)\beta}, \\ \frac{\beta}{1+2\lambda} & \text{if } \frac{(\lambda^2+8\lambda+3)\beta-(1+\lambda)^2}{4(1+2\lambda)\beta} \leq \mu \leq \frac{(\lambda^2+8\lambda+3)\beta+(1+\lambda)^2}{4(1+2\lambda)\beta}, \\ \frac{(4(1+2\lambda)\mu-(\lambda^2+8\lambda+3))\beta^2}{(1+2\lambda)(1+\lambda)^2} & \text{if } \mu \geq \frac{(\lambda^2+8\lambda+3)\beta+(1+\lambda)^2}{4(1+2\lambda)\beta}. \end{cases}$$

Putting $\delta = 1, \lambda = 0, s = 1, t = 0, A = 1, B = -1$, Theorem 2.1 gives the following result due to Keogh and Merkes [10].

Corollary 2.11. Let $f(z) \in S^*$. Then

$$|a_3 - \mu a_2^2| \leq \begin{cases} 3 - 4\mu & \text{if } \mu \leq \frac{1}{2}, \\ 1 & \text{if } \frac{1}{2} \leq \mu \leq 1, \\ 4\mu - 3 & \text{if } \mu \geq 1. \end{cases}$$

Putting $\delta = 1, \lambda = 1, s = 1, t = 0, A = 1, B = -1$, Theorem 2.1 gives the following result due to Keogh and Merkes [10].

Corollary 2.12. Let $f(z) \in K$. Then

$$|a_3 - \mu a_2^2| \leq \begin{cases} 1 - \mu & \text{if } \mu \leq \frac{2}{3}, \\ \frac{1}{3} & \text{if } \frac{2}{3} \leq \mu \leq \frac{4}{3}, \\ \mu - 1 & \text{if } \mu \geq \frac{4}{3}. \end{cases}$$

REFERENCES

- [1] Nak Eun Cho and Shigeyoshi Owa, On the Fekete-Szegő problem for strongly α -quasi convex functions, *Tamkang J. Math.*, 34(1)(2003),21-28.
- [2] N. E. Cho, O. S. Kwon and S. Owa, Certain subclasses of Sakaguchi functions, *SEA Bull. Math.*, 17(1993), 121-126.
- [3] R. N. Das and P. Singh, On subclasses of schlicht mappings, *Indian J. Pure Appl. Math.*, 8(1977), 864-872.
- [4] B.A. Frasin, Coefficient Inequalities for Certain Classes of Sakaguchi Type Functions *Int. J. Non-linear Sci.* 10(2)(2010), 206-211.
- [5] R. M. Goel and B. S. Mehrok, On the coefficients of a subclass of starlike functions , *Indian J. Pure Appl. Math.*, 12(1981), 634-647.
- [6] R. M. Goel and Beant Singh Mehrok, A subclass of starlike functions with respect to symmetric points, *Tamkang J. Math.*, 13(1)(1982), 11-24.
- [7] R. M. Goel and Beant Singh Mehrok, A coefficient inequality for certain classes of analytic functions, *Tamkang J. Math.*, 22(2)(1991), 153-163.
- [8] S.P. Goyal and Pranay Goswami, Certain Coefficient Inequalities for Sakaguchi Type Functions and Applications to Fractional Derivative Operator, *Acta Universitatis Apulensis*, No. 19(2009), 159-166.
- [9] B. Srutha Keerthi, V.G. Shanthi and B. Adolf Stephen, Certain Coefficient Inequalities for Sakaguchi Type Functions and Applications to Fractional Derivatives, *Bull. Math. Anal. and Appl.*, 4(2)(2012), 29-39.
- [10] S.R. Keogh and E.P. Merkes, A coefficient inequality for certain classes of analytic functions, *Proc. Amer. Math. Soc.*, 20(1969), 8-12.
- [11] Yongchan Kim and IL Bong Jung, Subclasses of univalent functions subordinate to convex function, *Int. J. Math. and Math. Sci.*, 20(9)(1997), 243-248.
- [12] Trilok Mathur and Ruchi Mathur, Fekete-Szegő inequalities for generalized Sakaguchi type functions, *Proceedings of the World Congress on Engineering 2012 Vol I, WCE 2012, July 4 - 6, 2012, London, U.K.*
- [13] B. S. Mehrok and Gagandeep Singh, A coefficient inequality for certain classes of analytic functions, *Int. J. of Modern Math. Sci.*, 4(3)(2012), 96-105.
- [14] P. T. Mocanu, "Une propriete' de convexite' généralisée dans la théorie de la représentation conforme", *Mathematica(CLUJ)*, 11(34)(1969), 127-133.
- [15] Z. Nehari, *Conformal Mapping*, McGraw–Hill, New York, 1952.
- [16] S. Owa, T. Sekine and R. Yamakawa, On Sakaguchi type functions, *Appl. Math. Comput.*, 187 (2007), 356-361.
- [17] W. W. Rogosinski, On subordinating functions, *Proc. Camb. Phil. Soc.*, 1939, 1-26.
- [18] K. Sakaguchi, On a certain univalent mapping, *J. Math. Soc. Japan*, 11(1959), 72-80.
- [19] T. N. Shanmugam, C. Ramachandran and V. Ravichandran, Fekete-Szegő problem for subclasses of of starlike functions with respect to symmetric points, *Bull. Korean Math. Soc.* 43(3)(2006), 589-598.

- [20] N. Shilpa and S. Latha, Coefficient inequalities for certain classes of Janowski-Sakaguchi type functions, *International Journal of Pure and Applied Mathematics*, 81(5)(2012), 663-669.